IR )X AR R

TAXHEMERR (FHBAHED

FfL: i

T H ARk (At )

JLEEE/E N

TABCE PR

SO H bR

GUdRR

#it

851. 96

851. 96

JHTT A B0 45 W BRAE DX B A R 55

851. 96

851. 96

FEMRN G b 22 3

81. 36

81. 36

JIFRRCTAR N GRS B 23 28 B Ml 55 3
I3, ARBEDSST AU IE R B 1F

Lo 2-RERHEHE, 31-R55 % GO RE 8, WA 0 S R =4 T A B ik 3
RN/ PSR K 100%: S FEUIFR ARAE : =90%, 4R FE SR AR :
=90%;, 2. 2-RURARKE, 22- A 2R, CRIBER UG SEE IR bR
B0, SEREFEFRE: 05, 3+ 17 tHRKR, 12- BT LAR AR, A AFIB)F=14E1]
TNEY EARRR T NEC100%;  SEHE R AR : =90%, FEEHRAR(E : =
90%;, 4+ 177 R, 11-Hhi bR, A B3 tH 0% R 3= Br th 3 A 8/ 84
NHR100%: S WA HRAA - 100%, “EFETRFRAE : 100%;, 5. 177 ik
B, 11RO RROR, 1 bR v AR D0 b A8 =S BR R 52 /92 B N R T
PER100%: Sl HEFRL : 100%, 4F BEFRHRAL : 100%;

WO I B2 9

462. 13

462. 13

LW IER A (EAE SRR L % (B2
) WMBOREAME, T AR AR B3 TR
JRANA SR R 55 AR R gy BEAS B RESRHH
Rt IEH e E AL, (RIS E .

1o 2-ZERHEHR, 22-3L 228, PRI RO AR IR 2 1F =92 pria 1 R/
REIZAEIR KR 100%: S JE WIHEHRAE - 100%, 4 BEHEARAE : 100%:, 20 17
AR, 12- TR RRR, VLA R A b Se=00 05 i R4 W 4/ 0 T 400
Hre100%: St A ST FRAE : L00%, 4EFETRPRME : 100%;, 3. 2-R itk

B, 31 R G5 %o GOl R, R e G R e = T IR 95 S i R N B/
SRR NER100%: SRR BRAEL: =90%, 4R EEFRARME : =90%;, 4.
2B, 22-RE 2R, BT O AE B SRR R R - 0, 4ETE
FRRRE:0;, 5+ 1= HRAR, 12-FURARR, 118 9 IR= 2 4K
T2 B/ LAERERIGT 1S B F*100%; S IR AR : <10%, 4EREHR
BRI <10%;, 64 1= tHRAR, 11-BohkRhs, 1R8I AU =
HEETTRIB RS NRBY LAETT 22 IR NIREG SEiE FASR bR : >0,
AEFERRIRE : =0;

kb2

53.00

53.00

BT, ARBIR PG RELE T IEH ST H I A B
Jis i RESTTHUMIZ (LS

Lo 1= dEhR, T-HORAEAE, IR IR AREINEE=2445 T 2B IR

S5 NUBU LAETT 202 RS NKG: SEHE FRUIR AR : =0, 4ERESRRRAE :

=0;, 2+ 1=/ HRKE, 12-FURER AR, U311 SR RIR= 24 38 112 9
JH/ LA B U T TS B FiT% 100%: S B I3 b A - <<10%, 4R PERAR{E : <
10%;, 3 238836 AR, 22422000, BT HHMORAEVHG  SiE A IETR

B0, SEFERRARAF: 05, 40 2-RURRARAR, 31- R 55X GUili i BE, A % 4Ll

TR T IR 55 I 006 R N K/ B2 A A 100%: S SO

{E: =90%, 4EEFRbRE : =90%;

M BAEERG 2L

9. 00

9. 00

I ZIE . AR PG R I I SR AN
AREES, INBEAT T AR ) B RS S

Ly 2-20RSHEHE, 212 BrRkas, A DA 24 T 2 b k= CL S 24 i B
/2 R 100%; S WHRARAL - 0, SR EFRARAE 05, 20 177 tH4R
B, 12 FRAR, Ao LA 308 97 1] 5 A 245 ) it 2= S B A I
AR /R AR DA S A 100%; SN R RR A =>95%, fERETR
FRAL: =95%;, 3. 1=t 6hs, 11-Hokdabr, Rl it R 257 . BipifR
RA S, [l B EL A AN 1 7 R 2 B 10 A T A () ot 2= BRI 5
B T R/ R XA R T AR S R 100%; S HIAE BRAE  100%, 4F
FEARRRE  100%;, 4 2-RRRTRAR, 31-HRe X Rl R, B R =
o7 TR 45 S 0 3 N/ B S VR A A Nk 100%; ST S bR : =
80%, £ EARBRE : =80%;

PAR R

24. 30

24. 30

JEILZIH , RBEIRRORELE R S AT DA K,
PR PRI i B 1L 12 15

1. 2-RERARAR, 22- AL 2 Ra0, AN EHRO S Se=SEBr i A /R
V) S B 100%: 527t P B A - 85%ER LA L, 4R FE F bt - 85%8% LA |, 2

o IPE R, 12- IR AR, SR AR RL AR =B e 1 R R/

A EL A Ee100%;  SEHE RS ARAEL : 100%, 4R FEFRAR(EL: 100%;, 31 1-

P HRRR, 1B AR, e RIGIAT #e=324T 4 TR Y A A i/

KN AR RS R 100%; - S SR FRAE : 100%, SEEESRBRAE : 100%;, 4

V2 RRRARHE, 31- RS X GO R, FE R G R = BT IR 55 K i
BN/ B2 BB 100%:  SSHEFIRARE : =85%, 4FFERbRME : =
85%;

222. 17

222. 17

TEZIE, REER RO R IE R IR SO 2 R, 58
BRI, B ERERST AT AR IE R B 4E

Lo 1= AR, 11K ARAR, Serb o RIGHAT =947 4RI K 245 i it/
KL it S K 100%; - S E IR ARAE - 100%, SEEESRFR(E: 100%;, 2, 2-
BRI, 22-4 23R, 25 i A FHOR AR R SR IR AR - 0, 4F
FESRRRE 0, 3 2-RREIRHR, 22-H- 2200, HA LG I 2 A %=

CGEZIEN-FELGREN ) /HEZEAN s S0 IR AR - 0, 4EFEHRR
B:0;, 42 1= HARER, 1I-BORFRER, & )L E I R G Mk i Befh 2
=SEBRE R NH/ GRS LB NG SR R B 90%ER LA b, 4E SR
BRI 90%ER LA L, 5y 172 AR AR, 12-BURLIRHE, 258 R £ b =24
SR £ R i/ 245 5t R S Tk 100% - S50 L SR bR AEL: 100%, 4F FE R b
fE:100%:, 6 2-RAARHEHR, 31-MR5 A QUIRLE, B QU R = BRy7
RS RS 3 N B/ P A AN B 100%: S R bR A - =80%, 4
FEFRRRE : =80%;




